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Week 3 Day 2—‘I=

Fluency Problem Solving [
Complete these questions. George pours 4l of juice into

3 containers.

He pours 694ml into the first

container and 1.67l into the second

2 5 container. How much juice does the
2. 5% third container have?

3.805+1=
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Fluency Problem Solving

Complete these questions. George pours 4l of juice into

3 containers.

He pours 694ml into the first
container and 1.67l into the second
container. How much juice does the
third container have?

1.70 + 1000 =

1.70 + 1000 =
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Reasoning

Reasoning
4.73 x 29 =

5.2.7-1.65 =

6.30 x 40 =
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